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1] f: X — XO000000. Iy = {(z,f(z))}0 fO0000, A = {(z,2)} 00
00000, 0000 X xXOO0oOooood. 0db,ec : X xX — X x X
p: XxX—XO0O0000O ¢(x,2) = (2,2), plx,2’)=200000.

(1) pO000T;NAS{z|2=f(2)}000,00,00p0yNnAD0D0O0D
{zr|z=f(x)}0000000000000.

(2) (I'y)DDO0D00yg : X — XOOOODOOOODOODOODOODOOoOO, fO00
goooooooo.
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(1) N?40,N*=000000.00,N>u, #0000 w, €eC°000000.
(2) 00000000 eC’0000, NvO Nu, N>, 000000000000
0ag.

(3) wy, Nuiy, N*uj,uo,us 0, CCO00000000 ug,uz € C°0, Nuy = 0,
Nus;=000000000000.

(4) PPINPOOOOODOODOOOODOODOOOOSO0000000 POOOO
O,00000 PINPOOODO.

300 f:[0,1>?—RO,000000.

y? (<z<y<10O0O0O),
flr,y)=¢—22 (O<y<z<1O0O0),
0 (Coo).

DDDD,/OI</01f(x,y)dx) dy7é/01(/01f(x,y)dy) dz00O0O.



